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QUESTION 1

Which of the following RAID configuration would be used to accomplish disk mirroring with two disks? 

A. RAID 0 

B. RAID 1 

C. RAID 5 

D. RAID 10 

Correct Answer: B 

 

QUESTION 2

Which of the following can be used by the cloud consumer and provides a visualization of key service metrics? 

A. Dashboard 

B. API 

C. Home Page 

D. Interface 

Correct Answer: A 

 

QUESTION 3

Which of the following would be used to mitigate the risk of an unauthorized party authenticating into the network? 

A. Install a software-based firewall 

B. Establish a baseline and review logs daily 

C. Install antivirus software 

D. Disable the administrator account 

Correct Answer: D 

 

QUESTION 4

Which of the following can be used to enable out-of-band management of a Windows-based host? 

A. IPMI 

B. WMI 
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C. SMTP 

D. SNMP 

Correct Answer: A 

 

QUESTION 5

A fault tolerant storage array with clustered nodes is being installed. Which of the following would be the BEST
description of this type of array? 

A. Active- Active 

B. Passive-Passive 

C. Passive-Active 

D. Active-Passive 

Correct Answer: A 
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